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Where does this conversation probably take place/occur/happen?

Where is the man probably going?

Where are the two speakers?
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Where is Mike from? /
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Where are they going next?

Where will the woman go on Saturday?

Where was William in 19807

Where did the man think they were supposed to meet?

Where is John now?
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1. M; The Golden Lion sounds like a nice place to eat.

W. OK,let’s go there, | hear that they have a complete menu and a warm atmosphere.
Q: Where are the man and woman going?

A. To the beach. B. To a movie theater, C. To a restaurant,

EREMF C AMEAEpRRMEEH EMESEM HRARATSEL, SFFPRALAAARL
PR R B i E P 6 a nice place to eat (A M F )l Ak oA 5. OK. let”s go there. (47,
off 413 AF L . ) BR 90 A% K% M9 AR b 41 3 B4 (restaurant), &k EHE P 4 menu X A R g b2 H T —
R FIER.

2. M: What do vou want me to get? I'm leaving now.

W Pick up a bottle of milk and a loal of bread please.
Q: Where is the man probably going?

A, To the bank, B. To a shoe store. C. To the grocer’s.

EEE5MHE C AMREZHEH. RAZ-ATFH & grocer's(ERHERF)—HHEL, F—RAR
T A R pick up f£iX BAEUNIME £ £, R F 4 4R & bank, shoe store #o grocer’s iX = A~ £ 4
19 L ah e Al HE R ik Gk o B A K

3. M: Please buy two packs of cigarettes for me while you are at the store,

W. I am not going to any store. 1'm going to see Aunt Mary, but I will get them [or you at the gas
station.
Q: Where will the woman stop on her way?

A. At a cigarette store. B. At Aunt Mary’s, C. At a gas station,

EESBF C AMPHIT =A% Ff.a store,a gas station F Aunt Mary s, # 4 & 50 R 38 2} 35
ME AT AT, ki FI S AT 89 35 BT, A A R R ARG Anut Mary 89 £ B 9 4. 4 T 4R GA A
gas station(Au i 35 ) #o cigarettes £ %, A FE bbb F E£ 2 R®, B 28 20 LR GH—
EE Tk EREELSKFHY,

FRE EEER.
1. What's the most probable place the two are talking?

A, In a bank. B. In an airport, C. In a post office.
2. Where does this conversation most probably take place?

A, In a kitchen. B. In a dining-room. (. In a sitting-room.
3. Where did this conversation most likely take place?

A. In the bathroom. B. In a swimming pool. C. In the kitchen.
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1. Where is her mother now?

A, In the operation room, B. In the hospital, C. At home.

wn

Where does the woman expect the man to go?
A, To the airport. B. To the black market. C. To the post office.
6. Which direction are they facing now? )
A. The west. B. The north, C. The south.
7. Where are they standing?
A. Outside a bookstore, B. In front of a library. C. At the traffic light.
8. Where is the man talking to the woman?
A. In an automobile plant. B. In a garage. C. In an engine factory.
9. Where does this conversation take place?
A. In a shopping mall. B. In a post office, C. In a photo shop.
10, Where is the man supposed to go?
A. A far-away farm, B. An airport. C. Railway Carriage No. 3
11. Where are they at the moment?
A, They are at a wedding party. B. They are at a hirthday party.
C. They are at a farewell(4551])) party.
12, Where does this conversation probably take place?
A. At the bookstore, B. At the library. C. At the travel agency.
13. Where did this conversation take place?
A. In a parking lot, B. On a hill. C. At a service station.
14, Where is the man going on Sunday alternoon?
A. To a museum, B. To a wedding. C. To New Mexico.
15, Where is the conversation probably taking place?
A, In Beijing. B. At the airport. C. On a plane,
SHENEF S
16, Where are the two people?
A. In a car. B. In the street. C. In a restaurant,
17. Where is the man going?
A. To the library. B. To the theatre. C. Ta the research imstitute,

18. Where did the conversation take place?

A, In a kitchen. B. At a picnic. C. In a garden,
19. Where is Miss Black going?

A. A meeting room. B. A library. C. The bathroom.
20. Where did this conversation take place?

A, In Rome. B. In Paris, C. In London.
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When will=+-start?

How long will/did it take to---7

How much does+cost?

How many/muche«--?

What was the number of++7
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Fp i RS A ST DR R TR S AR e B R . T 310 s five
to six and next train will leave in thirty five minutes, "B, 4f T“When is the next train?™ @4 [n] [ 44 5% 57 % 2
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H I’Wﬁfl_-—?jiﬂlrf' R AT R R ] Y ek A AT A o i L 48 8 B A BB RE L i S & e AR
f-teen Fl-vy; 80, 4080 BOR R ak )L BT L4 O H LR S RRIS.

T AR OCH AR .

o B B ] .

quarter n. U432 —;—ZBh a quarter to/past eight//\ &5 2% /53— %]  three quarters of an hour = %
o HAr 8P three quarters of the population PA4r2Z <= A an hour and a half/one and a hall
hours — 42 /hlE two dozen (of) cggs WAT A% E  dozens of eggs JL &  score n. =+ three
score of years /N H4F scores of years JLHEVIFZ 4 million num. @77 billion num, 1142 daily adj.
Eoade, I UY)  weekly adj. & adwv, BERE (DD monthly adj. & adv. B H () once a day 8 X —
once every other day fg— K —IK

it dollar ( $),pound (L) .cent,penny.quarter

PR UE B time(s) conee . twice, as much as.every other week (day/year).daily, weekly, month-
Iy vquarterly. vearly

LA 8 twice three times.double. triple.a half,three quarters.one third.one and a half

A

1. W: Bob.are you going straight home aflter school today?

M: No. I have a class until one o clock,an< after that I"m going to spend a couple of hours at the li
brary before going home,
Q: When is Bob going home this afternoon?

AL AL 2200, B. Around 3 : 00, C. At 1 : 00,

EREMT B XA kM, kLR E P AL straight, SR AP FTAHEE,. +a%
Lo R LT B B B AR R A = A 8 (a couple of hours) , iR LB — S AP TE M, kW B2 M — E 86 2%
e

M: How long does it take vou to drive home when there is not much traffie?

W Only twenty five minutes. But if I can’t leave my office before 5 & 30 pm.,it sometimes takes me
fifty minutes.

Q: How long does it take the woman to drive home when it isn”t rush hour?

A, Twenty minutes. B. Fifty minutes. C. Twenty five minutes,

EXSMHF C oA —derm#a. B0 44+ R E 842 (when there is not much traffic)
FESMERE S KT, k@53 2% 25 44 (only twenty five minutes), X # .2 A6 £ 5%, T
R A RAES 30 WM L. O ERE50 54, MAERTHEMZ A, £ 45 &2 THAE, FIR
EER B RS

3. M. Have you seen my hrother?

W: No,I haven’t seen him since the day before yesterday.
Q: When did she last see the man’s brother?

A. Yesterday. B. Three days ago. C. Two days ago.
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EXES5EHF C, X2 —idetE#Hnda, XeE THHM the day before yesterday (37 £ )3 & two days
ago, 77 three days ago 9 EEAK T LY, Hit A M F AN R FE T vesterday — 3 0 & §E e 5 2 6

the day before yesterday 5 #% %,

WRE,EEER.

1. When will the man go to the cinema?

A. On Saturday evening, B. On Saturday morning. C. On Saturday alternoon.
2. When does the man want to arrive in Chicago?
A, At 9200 am, B. Belore 7 ¢ 30 am. C., At 83 30 am.

3. What is the price of a one way ticket to Tokyo?

AL 420 dollars. B. 520 pounds, C. 520 dollars.
4. How late do some large food shops close on Fridays?
A, Until § = 00 pm. B. Until 5 00 pm, C. Until 5 ¢ 30 pm.
5. How long does the first picture last?
A. 50 minutes to an hour. B. An hour and 15 minutes. C. 15 to 20 minutes,
6. How much will the television set cost the man?
A, $ 150, B. %175, C. 200,
7. What is the population of India?
A. 600 million, B. 700 million. C. 900 million.
8. How many people were injured in the accident?
A. Three women. B. Three women and one baby. C. None.
9. When will the bank be open on Saturday?
A. 12 at noon to 9 p. m. B. 9amto 5 p.m. C. 9 am to 12 at noon.
10. When does the next bus leave for the downtown?
A. Ten o’clock. B. Nine o’clock. C. Five o'clock.
11. How much was the driver’s tip?
AL $0.75. B. $3.25. C. $0.50.
12. When is the man’s birthday?
A. April Fools® Day. B. April 3rd. C. April 2nd.
13. What time will the two speakers leave?
A AL T 0. B, Ac 5 s 30, C.o At 6200,
14. How often was the man late?
A. At 3 times. B. At 6 times C. At 8 times
15, What time did Julie leave?
A, At 8100, B. At 8 20, C. At 8: 10,
SEHEF®
16. What’s the price of a ticket?
A, §2.40, B. $8.80. C. $17.60.
17. How often will the woman's daughter have violin lessons from next week on?
A. Once a week, B. Twice a week. C. Three times a week,

18. How long ago did they graduate from the school?

A. Two years ago. B. Twenty years ago, C. Forty years ago,
19. How long will it take to load the vehicle?

A. More than an hour and a half. B. Less than two hours,
C. Less than an hour and a half.

20, How many students are not local? /

{ ¥
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A, 500, B. 2,000, C. 1,500.

At Rk 2 S S S

A7 91 2 i) ) DE RS N BF {7y HR b o 36 R 04 ) 8, S S R A 6T b s B Y g DR A B O 6 R B R
Vi) Dl 17, 25 R K A R 4 i) ol G B ) o AR A K S TR T R IR L B A LA R B A LR
A G ] B AT G X R

I 8 ) 3 =CA

Who is the man (woman)?

What is the man (woman)?

What is the man’s (woman’s) job (profession)?

What probably is the man’s(woman’s) occupation?

What relation is the man to the woman?

What is the probable relationship between the man and the woman?

L Jrauwsg L 2

Wi e P9 25 B 0 03 5 BB B AT A 0 O &R ITU(E DG BE L B 8 E .

MR A BES B O . R RS P RIE A TR A S TS M By Bl

M: Were you at the football game yesterday evening? It was terrific.

W No.'l had to arrange accommodations for some New Zealand tourists.

8| arrange accommodationsCZ2HEE i 205 & T8k o #E W &+ o] G2 4 &) R ok i i+ o9 fE 7 A
By EUT B tourists CIFERD I L gl nl 1fF— A0 ) i b of BB S 0. JUSCRRA1E 3% v OF A B = X b FI’J""‘JA Rk
temperature;examination;injection ) K E REES P 20 E TRE .22, ‘5%&11 11— B2 A2 B 5 1) ) 26
P L R I AT R R A AR TR A HER A A e R G R HE TR LR SRS A 'EW

WA ESCGHIDC R, ARCEM A G OB T CHE K. R AR fﬂ;‘? g, ek 2 (1 385 - dears
darling; sweaty-J§ bt 5 i & 5 H] (F JK%-’\FIH {:sirsmadam;Can 1---7 F Jm X8 Wi A% 8506 G 08 18 2
Mr; Mrs; OK. sir; Could you please. .. 7 25 & 72 2 B W 3% B 08 09 15 . Hi, Bob. How are you doing?
Damn tired. Want a drink? H 453415 i){}j 0 38 SUHE S E 3R . — AR Lo e o o

DI SCHE L Rl 8 0 . T S W 1) o B i B 1S B AR R AR T OE L S T e Y L R

W. How about the pills T gave you last week?

M. Oh,they stopped the pain all right,but then two of my teeth became loose.

Q: Who is the man talking 10?

A. His assistant,

B. His doctor.

C. His dentist,

U] pill B KRR AR R BB A (At F R AR R, M L EE B two of my
teeth became loose f FAT T S HEBR BE 4 ML 4% C W B . fELL EXHE T two of my teeth R 1E B X8,
MAEX e sk ABE.

I3 Fb B AT SC R B O 0 B T R R A R R S R N B L
il 37 7 £ A
1. M: Why didn’t you stop when we [irst signaled?

W. I'm sorry. Will T have to pay a fine?

Q: What is the probable relationship between the man and the woman?

A. Policeman and driver,

B. Policeman and thief.

C. Teacher and pupil.
ERXESBHE A AR EMES Jne(THOAEA S P L LEE, L F4 80, 55
—RTFESE AR E A FESA L, Ak il "SR, AFXTHHED? (I'm sorry. Will 1
have to pay a fine?”) "M £ Z @ FHEAAHKFAM, MHFEG EERLTERBERG . AAELHHE,




2. W. How long will it take you to fix my watch?
M: I'll call you when it's ready,but it shouldn’t take longer than a weck.
Q: What is the probable relationship between the speakers?
A. Librarian and student.
B. Boss and secretary.
C. Customer and repairman.
EEE5RHC *L+RABEAEE S Ko, F2al 8457 K814 @.ﬁ‘(l 1l call you when it’s ready-
MU % 4498 fix my watch”, 4 A& 5T w4 $| 87 t 454152 customer 5 repairman,
3, M. Are there any more questions on this lecture? Yes, Mary.
W Dr. Baker.do you think an independent candidate could become president?
Q: What most probably is Mary?
A. A student.
B. A reporter.
C. A visitor.
EREWIFA XA —SXRMNEHEHG XM EXFEREANEAFTHS Mary 65 58, B+
9 &9 A 2t iX ok lecture A F iR A R4k 5] A, b ST LB E 4 —4E lecturer, @442 B 69 Mary 2 2% & # Tk
A — AL R IR 0 F R, W R GR IR A A AT L S i AR R T

g

WRE,EFER,
1. What is the man?
A. An engineer. B. A professor. C. A student.
2. Who is the man?
A. A driver. B. A lawyer. C. A policeman.
3. What is the woman?
A. A doctor. B. A cock. C. A tailor
4. What is their relation?
A. Teacher and student. B. Doctor and patient. C. Wife and husband.
5. What is the relationship between the two speakers?
A. Master and servant. B. Host and visitor. C. Waiter and customer.
6. What is Jack?
A. A driver. B. A student. C. A operator.

. What is the relationship between the two speakers?

-3

A. Husband and wife. B. Teacher and student. C. A teacher and his daughter.
8. Who is the man?
A. A butcher. B. A sailor, C. A repairman.

9, What is the relationship between the two speakers?

A. Husband and wife. B. Good friends, C. Business partners,
10, What is the man?
A. A serviceman, B. A waiter. C. A salesman.

11. What is the probable relationship between the two speakers?
A. Boss and secretary, B. Teacher and student, C. Doctor and nurse,

12. What is the probable relationship between the man and the woman?

A. Husband and wife. B. Father and daughter. C. Doctor and patient,
13. What is Susan Gray?
A, A writer. B. A student. C. A reporter.

14. What’s the woman’s job? )

Rl
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A. A shop assistant, B. A telephone operator. C. A waitress,
15. What is the most probable relationship between Jim and Bob?
A, They are twins, B. They are classmates, C. They are [riends.
SENEF®
16. What is the most likely relationship between the two speakers?
A. Mother and son. B. Driver and passenger, C. Policeman and driver.
17. What is the probable relationship between the two speakers?
A. A teacher and his student,
B. A math teacher and his colleague.
C. A student and his classmate,

18, Who 1s the woman most probably speaking to?

A. A railway porter. B. A bus conductor. C. A taxi driver.
19. What is Sam David?
A, A writer. B. A teacher. C. A reporter,

20. What is the probable relationship between the two?

A. Teacher and student. B. Lawyer and client. C. Boss and secretary.

BEE I LR

CENTER L3 ITANI ok Sk o LB IVN iU thtEﬂ” ARV W R, EENTH - R R e —
A [e) 22 Ak L S R A AT HL A 18 o Y i f’ F L FHLII . A1 ot 20 0 5 4 0 A0 A1 42 3 — 265 1) il
SH IR I S0 Y DG L.
L Juatdof L J
PR R A5 Y A R R i
(1) EEH
UG & AT AW L R WA & 15 A :no,no one.none, nobody . nothing, never, neither, nor, hardly, rare-
ly little,seldom. few. 47 1% & i & 5 ) 28 #9108 59 i@ . 10 useless. impolite %5, % W09 4 5 W 84 : im-,
un-sdis-ynon-,-less. X6 & A & & B A i M 2 47 ;. without, instead of .avoid, hate, deny, fail to do, re-
fuse.dislike,miss,far from,short of ,too*++to,anything. . . but,rather than %,

AR A5 5 S5 AT 8 E B ) never, livdes rarely 958 FF 3 % 83 40 L B0 B XU 7552 45 M9, W1 not uncom-

mon, no one can d{.l‘ly A‘? a

L"-"f-i_'"??JH%i-ﬁi’lﬁ.”rd‘hhl] A )RR T AR IR L IR A ) M A R A Y )
LNV R S T T
(2}%13’??&

KRFEHT IR £ . i but, or.otherwise, however.anyhow %, 07 F7 30348 o 2 7 but S b8 W, 1 88
AR o FERCRE RG] ol but 5 0% 8 R 00 £ 7k 2 5 98 0 . AL I Al B 1 R A ) £ G R R 7
Al IR B bue 6 £ B8 T — SR BN . S but MR HE R or FU R i 6 4
GIHE AT b FE - 8 A B R AR TERT — 440 1. 934k but,or }:%J.’LII'I ﬁll otherwise, however 25 5L &l 4] ,

(3) b 2

B e OO S R () 0 LT PR BT O R L ST L RS RN L R A T A A L, TE 8
PO EE A TR B s — B A5 P 9 BB 4 - SR L4207, 10 same, like, ase-as-, alike, different , dif-
ferent from,not the same %, <SR A S 2 S i) (9 B 4t . prefer+=to. «=+ % F like--more than--.1
can’t agree more £ 5% T 1 completely agree 2%

I I AR ) A

(noDas tadj. /adv. +as;

more,/ lesssthan;

the more«-,

% the more+;




